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QUESTION 1

What is an accurate statement about infrastructure discovery?

A. Creates an inventory of infrastructure components and provides information about the components

B. Standardizes on-going infrastructure management activities and assesses potential risks of the activities

C. Classifies, organizes, and analyzes all infrastructure management best practices stored in data lakes

D. Detects potential security attacks on a storage infrastructure and deploys specialized tools to eliminate the attacks

Correct Answer: A

QUESTION 2

What determines how far back the recovery points can go in a continuous data protection (CDP) solution?
A. Amount of space that is configured for the journal

B. Size of the CDP appliance used for replication

C. Size of the source and replica volumes

D. Type of write splitter used for replication

Correct Answer: A

QUESTION 3

In an FC SAN environment, an administrator wants to ensure that a particular switch port cannot function as an E_Port
and cannot be used to create an interswitch link. Which security mechanism should the administrator use?

A. Port type locking

B. Port binding

C. Persistent port disable
D. Fabric binding

Correct Answer: A

QUESTION 4
Which component is required for a "recovery-in-place" backup approach?

A. Disk-based backup target

E05-001 VCE Dumps | E05-001 Study Guide | E05-001 Braindumps 2/3


https://www.passapply.com/e05-001.html
https://www.passapply.com/e05-001.html
https://www.passapply.com/e05-001.html

VCE & PDF https://www.passapply.com/e05-001.html
2024 Latest passapply E05-001 PDF and VCE dumps Download
PassApply.com

B. Agent-based backup client
C. NDMP server
D. Data deduplication server

Correct Answer: A

QUESTION 5

What is an accurate statement about the function of an archiving server?
A. Enables the ability to configure policies for archiving data

B. Installs agents on the archiving storage device

C. Scans the data that can be archived on application servers

D. Creates stub files on an archiving storage device

Correct Answer: A
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